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Wherever they are the same, etc. — %912 97757 957 KOO 9

OVERVIEW

The X3 concluded that a 7°p1 7% should be used if it is not longer than a WY
nna. However one should always choose the %P 1w even if it is 1. The
question arises then why was the opy» 770 in order to write 7°p1 w22 if itis a W
917K, Our NoN answers this question.'
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And therefore the 102 contorted and wrote the extra words to teach us that a

person should always speak ;791 Pwoa -
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For if not for this contortion then how would we derive that even when both
phrases are of equal length that one should speak 7°p3 Pw>a!’

SUMMARY
The 7710 was apy to teach us that when 173°1 >77:7 °2 one chooses a p1 NWo.

THINKING IT OVER
Why was it necessary to be apyn twice in the 770; seemingly one time would be
sufficient to teach us that one should speak 7°p1 1wva?!?

"' See also 921 71"72 "2

% See 'X Ty 2°¥H two instances where 21037 opY in the 70 (and one in o°X*13).

? If the 7N would have used a 7°p1 W only when it is the same length as a 733 PwY; we would not have learnt
anything. The 770 chose one of the options; sometimes a 71 w2 and other times a 7°p1 9. However since we
find that (occasionally) the 770 prefers a 751X P31 W2 over a 77%¥p A1 MY, this teaches us that there is
preference for a i°p1 Y. Therefore it is understood that where the 7°p1 W% and 7113 PW? are of equal length, one
should choose the 7°p1 W%. However if the 71132 11WY is 71%p then one chooses the 71¥p W5 even if it is 7113,

* See (T1m) K" n on 9 7" WA
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